HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265F6H1H
Bl Kim = JEL[F] JERE H BE B R BE KT
i3 °C mm 1 673'£'L m.”'s h % hPa
1 28.1 0.0 S 30 sokk 82 1008.6
2 28.4 0.0 ] 28 sokk 81 1008.3
3 272 20 il 40 sokk 87 1008.0
4 276 0.0 ol 40 sokk 81 1008.1
5 275 0.0 i 35 sokk 85 1008.1
6 26.7 05 TR 75 14 sokk 88 1008.6
7 27.9 0.0 FERI 7 15 sokk 82 1008.9
8 29.7 0.0 TR 15 ook 77 1008.9
9 30.2 0.0 i 20 ook 72 1008.9
10 29.9 0.0 ol 25 ook 75 1008.6
11 30.0 0.0 Bk 2.7 ook 75 1008.6
12 30.7 0.0 TEEI 7 26 ook 76 1008.3
13 30.9 0.0 TERI 7 15 ook 72 1007.8
14 30.2 0.0 FERI 7 20 o 76 1007.7
15 296 0.0 TR 7 19 o 77 1007.2
16 2738 0.0 [A:i 6.7 o 84 1007.1
17 25.7 12.0 = 16 o 91 1007.4
18 26.4 0.0 L= 5.4 o 88 1007.7
19 25.9 0.0 b= 59 sokk 87 1008.0
20 253 05 it 44 ook 89 1008.3
21 25.8 15 b= 26 sokk 87 1008.3
22 26.1 0.0 = 23 ook 85 1008.3
23 26.7 0.0 R R 24 sokk 83 1008.3
24 271 0.0 B 33 ook 84 1008.0
H&x A 30.9 12.0 6.7 91 1008.9
B/ 25.3 0.0 14 72 1007.1
HEH 28.0 30 82 1008.2
&3t 16.5 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ERK26F6H2H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 271 0.0 RE R 20 Fokx 86 1007.5
2 273 0.0 E 19 o 86 1007.4
3 273 0.0 & 20 o 86 1007.1
4 271 0.0 B 15 o 86 1007.1
5 272 0.0 Sk 19 o 85 1007.2
6 273 0.0 = 20 o 88 1007.4
7 28.4 0.0 = 31 o 80 1007.8
8 286 0.0 = 36 o 81 1007.7
9 243 10.0 EEd 38 sokk 96 1008.1
10 26.3 0.0 FEEI 7 21 sokk 89 1008.4
11 27.0 10 FERI 7 14 sokk 88 1008.3
12 27.0 0.0 G 33 sokk 85 1008.0
13 272 0.0 EEE 48 o 80 1007.2
14 27.9 0.0 il 57 ook 77 1006.5
15 28.2 0.0 FIR 7 58 ook 74 1006.0
16 295 0.0 i 6.1 ook 74 1005.9
17 28.7 0.0 Bk 4.7 ook 79 1006.2
18 28.6 0.0 TEEI 7 28 sokk 81 1006.3
19 2738 0.0 TR 22 sokk 80 1006.8
20 277 0.0 ol 2.9 o 81 1007.1
21 2738 0.0 Bk 19 o 81 1007.4
22 27.9 0.0 & — o — 1008.0
23 28.0 0.0 il 20 sokk 81 1008.0
24 28.1 0.0 Ei 26 o 81 1007.4
H&x A 295 10.0 6.1 96 1008.4
B/ 243 0.0 14 74 1005.9
EERS] 276 30 83 1007.3
&3t 11.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
K266 H3H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.0 0.0 o 7 19 sokk 83 1006.8
2 273 0.0 ARR 30 sokk 84 1006.3
3 277 0.0 ] 22 sokk 85 1006.5
4 272 75 ] 45 sokk 89 1006.8
5 26.4 0.0 = 17 sokk 88 1006.9
6 240 55 ] 45 o 94 1007.2
7 26.1 05 il 19 o 91 1007.5
8 249 35 Ei 2.7 o 94 1007.8
9 26.7 05 TEEI 7 23 o 82 1007.5
10 28.1 0.0 PRI 7 2.0 o 81 1007.4
11 29.0 0.0 ol 38 sokk 76 1006.5
12 30.0 0.0 ol 42 ook 74 1006.2
13 305 0.0 ol 43 o 72 1005.6
14 30.9 0.0 kL 51 o 68 1005.6
15 303 0.0 TR 23 o 75 1005.3
16 303 0.0 i 28 sokk 72 1004.8
17 30.2 0.0 TEEI 7 23 o 75 1005.1
18 29.1 0.0 FERI 7 17 ook 74 1005.3
19 272 0.0 TERI 7 49 sokk 77 1006.0
20 28.2 0.0 ] 34 ook 75 1006.5
21 28.4 0.0 il 40 ook 79 1006.9
22 283 0.0 Ei 2.8 o 83 1007.1
23 283 0.0 5] 59 sokk 74 1006.8
24 27.9 0.0 ] 23 sokk 85 1006.3
Hmx KX 30.9 15 5.9 94 1007.8
B/ 24.0 0.0 17 68 1004.8
HEH 28.1 32 80 1006.4
&3t 17.5 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
K266 H4H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 278 0.0 ElEd 59 Fokx 81 1005.6
2 28.6 0.0 FIR 7 6.3 o 80 1005.4
3 28.4 0.0 e 58 o 79 1005.0
4 27.0 0.0 FIR 7 55 o 86 1005.3
5 28.2 0.0 ol 5.7 o 80 1005.6
6 249 15 75 6.3 sokk 92 1006.3
7 2538 4.0 & 44 sokk 91 1006.8
8 26.4 0.0 5 38 o 88 1007.7
9 265 25 ol 4.9 o 89 1007.8
10 25.0 45 ol 6.0 o 90 1007.1
11 247 4.0 i) 5.7 o 92 1007.5
12 25.4 115 i 0.7 sokk 97 1006.2
13 27.0 0.0 e 35 o 89 1005.3
14 27.9 0.0 il 48 o 82 1004.7
15 28.3 0.0 [kl 6.2 oo 80 1004.7
16 289 0.0 Gl 6.3 o 79 1005.0
17 289 0.0 ol 58 o 79 1005.0
18 285 0.0 ol 6.0 o 80 1005.4
19 28.4 0.0 ol 58 o 82 1005.6
20 28.4 0.0 S 4.9 sokk 81 1006.3
21 285 0.0 i 51 sokk 83 1006.5
22 285 0.0 ol 6.6 sokk 84 1006.5
23 285 0.0 ol 70 sokk 84 1006.5
24 285 0.0 S 70 o 83 1005.6
Hmx KX 28.9 11.5 7.0 97 1007.8
Hex/ 24.7 0.0 0.7 79 1004.7
EERS] 275 5.4 85 1006.0
&S5t 28.0 sokok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
R 26456 A5H
FFZl Kum = J& ] R H ERRFRE R <E
i °C mm 1 673'£'L m.”’s h % hPa
1 28.4 0.0 ﬁﬁg 6.4 *okok 84 1005.3
2 28.5 0.0 A 6.8 *hk 84 1005.0
3 27.5 0.0 Eﬁg 43 *okok 87 1005.0
4 26.8 0.0 ﬁﬁ_ﬁ 6.0 koK 84 1005.1
5 27.5 0.5 [E3i] 45 *okok 83 1005.6
6 26.5 0.0 EA 43 koK 85 1005.9
7 26.6 0.5 Eﬁg 35 kokok 85 1006.3
8 27.1 0.5 A 8.7 *hk 86 1005.9
9 27.6 0.0 ﬁ_ 7.8 *okok 85 1005.7
10 28.0 0.0 ﬁﬁ_ﬁ 8.0 kokok 83 1006.3
11 28.9 0.0 ﬁg 8.6 kokok 79 1005.9
12 28.6 0.0 [E3id] 8.0 koK 79 1005.7
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 koK koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
Hmx KX 28.9 0.5 8.7 87 1006.3
H&x/I 26.5 0.0 35 79 1005.0
H¥E15 27.7 6.4 84 1005.6
&S5t 15 *okok
BESAT—42
==~ma EEBFHH °C orem |EREAH °C
RERE T35 36.1 RETR 00217 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
R 2646 A 6 H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
R 26456 A 7TH
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE [Ti5322 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
R 26456 A 8H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




HF/EEFX/MIUR)GKRBAIT—4 [aE4R1E)

t#g:20F25% HE:136E04%

ERE265F6H9H
Bl Kz = NG A& B B2 R R TEE KUE
i °C mm 165 4iL m./'s h % hPa
1 *kkok *kkok *kkok *kkok *kkok *okok *okok
2 *kkok *kkok *kkok *kkok *kkok *okok *okok
3 KoKk *okok *okok *okok *okok *okok *okok
4 *kkok *kkok *kkok *kkok *kkk *okok KoKk
5 KoKk *okok *okok *okok *okok *okok *okok
6 KoKk *okok KoKk *okok *okok *okok KoKk
7 *kkok *kkok *kkok *kkok *kkok *okok *okok
8 *okok *okok KoKk *okok *okok *okok KoKk
9 KoKk KoKk *okok *okok *okok *okok *okok
10 KKk KKk KKk KKk KKk *okok KoKk
11 — — #N/A — Kook — —
12 29.7 — ekl 32 ook 76 1006.8
13 30.0 0.0 ikl 28 ook 75 1006.5
14 29.8 0.0 ekl 32 ook 78 1006.2
15 29.8 0.0 ikl 3.0 ook 75 1006.0
16 30.0 0.0 ikl 22 ook 75 1005.9
17 29.9 0.0 ekl 24 ook 74 1006.2
18 28.9 0.0 ikl 25 ook 79 1006.6
19 285 0.0 ikl 27 ook 84 1006.8
20 27.9 0.0 ekl 20 ook 87 1007.2
21 28.0 0.0 7 74 16 ook 85 1008.3
22 28.2 0.0 el 0.7 ook 86 1008.6
23 28.4 0.0 ] 27 ook 84 1008.0
24 271 0.0 HmR 7.7 ook 89 1006.9
HEX 30.0 0.0 77 89 1008.6
Hex/ 27.1 0.0 0.7 74 1005.9
H¥E 28.9 2.8 81 1006.9
&3t 0.0 *okok
BEgAaT—42
B A EEEH E oC: = = EEEH E OC
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= ESE B| mm/da = « | H m./s
RABRE HZﬁES 2505 . RARE ngaz 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2656108
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 271 0.0 B 73 ook 89 1006.5
2 273 0.0 B 58 o 86 1005.9
3 277 0.0 Sk 6.0 o 83 1005.9
4 277 0.0 B 6.4 o 81 1005.9
5 275 0.0 b 49 sokk 84 1006.2
6 275 0.0 EEE 45 sokk 85 1006.2
7 28.1 0.0 Tk 50 sokk 84 1006.8
8 28.1 0.0 EEE 49 o 84 1007.1
9 28.7 0.0 EEE 43 sokk 83 1006.9
10 29.4 0.0 Sk 42 sokk 80 1006.9
11 29.1 0.0 Tk 44 sokk 81 1006.9
12 293 0.0 Sk 42 sokk 82 1006.5
13 29.0 0.0 Sk 47 sokk 83 1006.0
14 29.0 0.0 Sk 40 o 84 1005.9
15 29.0 0.0 B 50 o 83 1005.3
16 29.2 0.0 B 49 o 82 1005.3
17 295 0.0 B 4.6 o 79 1005.6
18 29.0 0.0 B 36 sokk 80 1006.5
19 28.6 0.0 B 40 sokk 84 1006.9
20 28.4 0.0 B 43 o 85 1007.5
21 285 0.0 B 44 o 83 1007.8
22 283 0.0 B 37 sokk 85 1008.1
23 28.2 0.0 B 46 o 84 1007.8
24 28.1 0.0 B 42 o 86 1007.4
H&x A 295 0.0 73 89 1008.1
B/ 271 0.0 36 79 1005.3
HEH 28.4 4.7 83 1006.6
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E6H11H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.1 0.0 B 53 sokk 86 1006.8
2 28.1 0.0 B 4.9 sokk 86 1006.2
3 28.0 0.0 B 52 o 87 1005.9
4 28.0 0.0 B 6.0 o 87 1005.7
5 28.1 0.0 B 71 o 87 1005.9
6 28.4 0.0 B 75 sokk 85 1006.3
7 28.7 0.0 Ik 6.4 sokk 84 1006.6
8 29.0 0.0 B 6.9 sokk 82 1006.6
9 289 0.0 Ik 65 sokk 84 1006.5
10 293 0.0 Sk 58 sokk 82 1006.8
11 293 0.0 Tk 6.1 sokk 80 1006.5
12 29.2 0.0 Sk 6.1 sokk 82 1006.2
13 29.9 0.0 Sk 48 o 80 1005.4
14 295 0.0 Sk 6.6 o 79 1004.7
15 295 0.0 Sk 6.8 o 80 1004.1
16 29.4 0.0 Sk 71 o 79 1004.1
17 293 0.0 ] 51 o 82 1004.2
18 29.0 0.0 ] 42 o 84 1004.7
19 288 0.0 EEEd 46 o 85 1005.1
20 289 0.0 ] 36 o 86 1005.7
21 28.7 0.0 EEEd 55 o 87 1005.9
22 28.6 0.0 Tk 4.7 sokk 87 1006.3
23 28.6 0.0 Tk 55 o 87 1005.9
24 285 0.0 Tk 74 o 88 1005.3
H&x A 29.9 0.0 75 88 1006.8
B/ 28.0 0.0 36 79 1004.1
H¥EH 28.8 58 84 1005.7
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E6H12H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 286 0.0 EEEd 72 Fokx 88 1005.1
2 285 0.0 ] 6.5 o 89 1004.7
3 285 0.0 ] 77 o 89 1004.1
4 285 0.0 ] 6.6 o 88 1004.4
5 28.6 0.0 ] 6.6 o 88 1004.5
6 28.6 0.0 ] 71 o 89 1004.8
7 29.0 0.0 ] 6.2 o 86 1005.3
8 29.2 0.0 ] 6.0 o 85 1005.6
9 29.4 0.0 ] 6.7 o 84 1005.7
10 296 0.0 ] 6.8 o 83 1005.6
11 296 0.0 5 77 o 84 1005.4
12 296 0.0 ol 8.0 o 84 1005.0
13 29.8 0.0 ol 8.6 o 83 1005.0
14 30.1 0.0 ol 7.9 o 81 1005.1
15 29.4 1.0 [kl 5.1 oo 80 1005.1
16 30.4 0.0 ol 72 o 77 1005.0
17 30.0 0.0 Bk 44 o 78 1005.6
18 296 0.0 TR 28 sokk 85 1006.2
19 29.0 0.0 Gl 39 sokk 88 1006.8
20 289 0.0 ol 34 o 89 1007.1
21 283 0.0 FIR 7 6.0 o 87 1007.5
22 28.0 0.0 i 39 sokk 88 1008.0
23 283 0.0 5] 44 sokk 86 1008.0
24 28.4 0.0 ] 32 o 91 1007.8
H&x A 30.4 10 8.6 91 1008.0
B/ 28.0 0.0 2.8 77 1004.1
H¥EH 29.1 6.0 85 1005.7
&3t 10 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU H1§6J1 36.1 REXE Hzfz.i 177
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E6H13H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i3 °C mm 1 673'£'L m.”'s h % hPa
1 285 0.0 S 41 Fokx 89 1007.7
2 285 0.0 ] 4.6 o 89 1007.2
3 285 0.0 5 51 o 90 1007.4
4 285 0.0 ol 4.7 o 87 1007.4
5 28.4 0.0 ol 43 o 89 1007.4
6 285 0.0 [Ealsakid] 3.0 oo 90 1007.7
7 288 0.0 ] 35 o 88 1007.7
8 29.4 0.0 ] 40 o 85 1007.7
9 296 0.0 EEEd 48 o 85 1007.8
10 29.9 0.0 ] 4.9 o 83 1007.8
11 303 0.0 ] 48 sokk 81 1008.1
12 30.2 0.0 ] 45 ook 79 1008.0
13 30.7 0.0 ] 35 sokk 74 1008.0
14 30.2 0.0 ] 42 ook 78 1008.0
15 311 0.0 ] 2.9 sokk 76 1007.8
16 313 0.0 ] 20 ook 73 1008.0
17 313 0.0 B 18 sokk 78 1008.4
18 311 0.0 B R 26 sokk 77 1009.0
19 29.7 0.0 HER 23 sokk 83 1009.8
20 29.2 0.0 = 25 o 85 1010.1
21 29.2 0.0 R R 26 o 85 1010.5
22 29.0 0.0 B R 2.7 o 85 1011.0
23 289 0.0 B R 24 o 86 1011.3
24 28.7 0.0 = 2.0 o 86 1011.1
H&x A 313 0.0 51 90 1011.3
B/ 28.4 0.0 18 73 1007.2
EERS] 296 35 83 1008.5
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
ER265E6H14H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.7 0.0 RE R 2.7 Fokx 86 1010.8
2 285 0.0 = 26 o 86 1010.5
3 285 0.0 E 36 o 86 1010.2
4 285 0.0 E 34 o 86 1010.4
5 28.4 0.0 = 35 o 87 1010.5
6 288 0.0 = 30 o 85 1010.8
7 295 0.0 = 38 o 81 1011.0
8 29.8 0.0 = 41 o 79 1011.1
9 30.2 0.0 = 45 o 77 1011.0
10 30.4 0.0 = 44 o 78 1010.5
11 31.0 0.0 = 39 o 76 1010.7
12 30.8 0.0 E 50 o 77 1010.2
13 30.8 0.0 HER 5.7 sokk 77 1009.8
14 312 0.0 EE 50 ook 74 1009.3
15 315 0.0 HER 41 ook 73 1009.2
16 31.7 0.0 EE 36 sokk 71 1008.9
17 31.7 0.0 HER 37 ook 71 1009.0
18 30.7 0.0 B R 31 sokk 75 1009.5
19 29.7 0.0 HER 35 sokk 79 1009.9
20 29.4 0.0 = 3.7 o 80 1010.5
21 293 0.0 = 32 o 82 1011.3
22 29.1 0.0 R R 36 o 83 1011.7
23 29.2 0.0 B R 33 o 81 1012.0
24 29.0 0.0 B R 30 o 85 1011.6
Hmx KX 31.7 0.0 5.7 87 1012.0
B/ 28.4 0.0 26 71 1008.9
EERS] 29.9 38 80 1010.4
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
L2656 H 158
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 288 0.0 B 20 Fokx 85 1010.8
2 26.3 85 FEEI 7 19 o 96 1010.1
3 272 0.0 HitE 0.3 sokk 94 1009.9
4 283 0.0 BER 38 sokk 88 1009.9
5 28.4 0.0 RS 35 sokk 84 1009.9
6 28.7 0.0 = 31 o 83 1010.4
7 296 0.0 = 33 o 80 1010.4
8 29.9 0.0 = 39 o 78 1010.5
9 30.1 0.0 R R 46 o 77 1010.1
10 303 0.0 = 44 o 76 1010.1
11 30.9 0.0 = 40 ook 74 1009.9
12 313 0.0 = 42 ook 71 1009.5
13 314 0.0 = 41 ook 72 1009.2
14 313 0.0 E 42 sokk 68 1008.6
15 3138 0.0 = 30 sokk 69 1008.3
16 330 0.0 = 24 sokk 65 1008.3
17 328 0.0 = 2.7 sokk 65 1008.3
18 305 0.0 26 ook 72 1008.6
19 29.7 0.0 it 31 ook 77 1009.0
20 29.4 0.0 it 36 ook 79 1009.8
21 293 0.0 it 4.0 o 79 1010.1
22 29.2 0.0 = 45 ook 79 1010.5
23 29.0 0.0 R E 40 o 82 1010.4
24 289 0.0 = 44 sokk 82 1009.8
H&x A 33.0 85 4.6 96 1010.8
B/ 26.3 0.0 0.3 65 1008.3
H¥EH 29.8 34 78 1009.7
a5t 85 kK
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
L2656 H16H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 288 0.0 = 51 sokk 85 1009.2
2 288 0.0 = 50 sokk 82 1009.0
3 28.6 0.0 37 sokk 82 1008.9
4 28.6 0.0 it 43 sokk 81 1008.9
5 285 0.0 it 4.4 ook 82 1008.9
6 28.7 0.0 = 41 sokk 78 1009.2
7 29.4 0.0 = 44 sokk 75 1009.2
8 29.8 0.0 = 42 sokk 74 1009.2
9 30.2 0.0 = 39 sokk 73 1008.9
10 30.4 0.0 E 41 ook 75 1008.6
11 306 0.0 = 43 sokk 76 1008.3
12 30.9 0.0 = 4.6 o 75 1007.8
13 31.0 0.0 E 47 o 76 1007.4
14 315 0.0 EE 48 o 73 1007.1
15 320 0.0 B 56 sokk 70 1006.8
16 306 0.0 Ik 37 sokk 76 1006.9
17 30.7 0.0 Sk 30 o 76 1007.1
18 30.2 0.0 B 47 o 72 1007.7
19 29.9 0.0 B 34 sokk 80 1008.1
20 295 0.0 Ik 31 sokk 80 1008.7
21 29.4 0.0 ARR 18 sokk 81 1009.2
22 29.2 0.0 ] 20 sokk 82 1009.5
23 293 0.0 GBS 2.9 sokk 81 1009.5
24 29.1 0.0 Ik 25 sokk 81 1009.2
Hmx KX 32.0 0.0 5.6 85 1009.5
B/ 285 0.0 18 70 1006.8
H¥EH 29.8 39 78 1008.5
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER265E6H17H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.0 0.0 EEEd 18 ook 81 1008.7
2 28.7 0.0 Tk 05 sokk 82 1008.3
3 28.6 0.0 RS 0.6 sokk 83 1008.3
4 285 0.0 = 14 sokk 86 1008.3
5 28.4 0.0 = 0.7 sokk 87 1008.3
6 28.7 0.0 R R 10 sokk 82 1009.0
7 29.8 0.0 B 17 ook 79 1009.3
8 30.0 0.0 Eab 16 ook 77 1009.5
9 323 0.0 = 17 sokk 67 1009.6
10 3138 0.0 E 17 ook 70 1009.5
11 326 0.0 B 19 sokk 68 1009.2
12 327 0.0 B R 1.1 sokk 67 1008.4
13 336 0.0 = 11 sokk 63 1008.1
14 330 0.0 E 12 o 65 1007.8
15 332 0.0 FERI 7 0.6 o 64 1007.7
16 330 0.0 ARR 0.7 o 68 1007.4
17 339 0.0 R, 0.0 o 63 1007.5
18 324 0.0 e 02 ook 71 1008.0
19 30.8 0.0 B R 17 ook 70 1008.4
20 30.4 0.0 = 18 ook 70 1009.0
21 30.1 0.0 = 17 ook 76 1009.5
22 29.9 0.0 = 25 ook 77 1009.5
23 29.7 0.0 = 2.7 ook 77 1009.0
24 295 0.0 R R 30 ook 78 1008.6
H&x A 33.9 0.0 30 87 1009.6
B/ 28.4 0.0 0.0 63 1007.4
EERS] 30.9 14 74 1008.6
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2656 H18H
Bl Kim R= JERE H BE B R BE KT
i °C mm m.”’s h % hPa
1 293 0.0 34 ook 79 1008.0
2 29.2 0.0 26 o 82 1007.7
3 29.1 0.0 41 o 83 1007.4
4 289 0.0 31 o 83 1007.7
5 28.1 0.0 35 o 87 1007.7
6 276 0.0 43 sokk 89 1008.1
7 288 0.0 30 sokk 83 1008.9
8 285 0.0 40 sokk 87 1008.9
9 30.1 0.0 0.6 sokk 77 1008.6
10 321 0.0 0.0 ook 70 1008.3
11 326 0.0 0.0 sokk 67 1008.0
12 327 0.0 0.6 o 64 1007.5
13 325 0.0 08 o 64 1007.2
14 327 0.0 11 sokk 65 1006.8
15 327 0.0 23 o 67 1007.1
16 312 0.0 LFE 30 ook 70 1006.8
17 3138 0.0 75 26 sokk 69 1006.8
18 311 0.0 LHE 26 sokk 71 1006.8
19 305 0.0 7 2.9 sokk 71 1006.8
20 30.2 0.0 It 21 ook 74 1006.9
21 29.7 0.0 titE 10 o 77 1007.1
22 29.7 0.0 it 11 o 78 1007.4
23 29.4 0.0 7 05 o 79 1007.4
24 293 0.0 ¢ 75 15 ook 79 1006.6
H&x A 327 0.0 43 89 1008.9
B/ 276 0.0 0.0 64 1006.6
EEZD] 303 21 76 1007.5
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
L2656 H 198
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 1 673’_{1'[ m./'s h % hPa
1 29.2 0.0 it 16 ook 79 1006.3
2 29.1 0.0 B[ 2.4 ook 78 1006.0
3 29.1 0.0 BN 31 sokk 77 1006.3
4 29.0 0.0 LT 23 sokk 81 1006.5
5 29.0 0.0 Pt 7 30 sokk 79 1006.9
6 293 0.0 it 2.8 sokk 77 1007.5
7 29.8 0.0 LT 2.7 ook 76 1008.0
8 31.0 0.0 7L 7 15 ook 72 1008.0
9 30.4 0.0 B[Aic 19 sokk 75 1008.6
10 30.7 0.0 B 17 ook 74 1008.4
11 323 0.0 1% 2.4 ook 69 1008.1
12 335 0.0 BN 18 o 64 1007.7
13 316 0.0 1% 23 o 69 1007.4
14 335 0.0 Jt3t 7 14 ook 60 1006.8
15 328 0.0 - 13 sokk 61 1006.5
16 342 0.0 Jtit 10 ook 57 1006.3
17 315 0.0 Jtit 14 ook 67 1006.2
18 329 0.0 it 0.7 ook 66 1006.5
19 30.8 0.0 R R 11 ook 72 1006.8
20 303 0.0 B R 17 o 74 1007.4
21 30.0 0.0 B R 15 o 76 1007.7
22 30.0 0.0 = 14 ook 76 1008.3
23 298 0.0 R R 14 ook 77 1008.1
24 296 0.0 B R 0.9 sokk 79 1008.0
H&x A 342 0.0 31 81 1008.6
Hex/ 29.0 0.0 0.7 57 1006.0
HEH 30.8 18 72 1007.3
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
FR2656H20H .
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 293 0.0 EEEd 05 ook 79 1007.5
2 293 0.0 Tk 10 o 79 1007.7
3 29.1 0.0 EEE 0.6 o 80 1007.8
4 29.0 0.0 EE 0.8 ook 82 1008.3
5 28.7 0.0 RS 0.1 sokk 84 1008.6
6 30.2 0.0 RS 0.1 ook 73 1009.2
7 322 0.0 = 05 sokk 69 1009.5
8 296 0.0 b= 11 ook 80 1009.6
9 30.1 0.0 Jbib = 20 ook 77 1009.6
10 325 0.0 = 23 sokk 64 1009.3
11 325 0.0 = 24 sokk 67 1009.5
12 327 0.0 = 30 sokk 67 1009.2
13 340 0.0 = 2.7 sokk 63 1008.9
14 334 0.0 = 33 sokk 61 1008.9
15 335 0.0 = 31 sokk 59 1008.9
16 335 0.0 = 31 sokk 63 1009.0
17 314 0.0 = 39 ook 71 1008.9
18 316 0.0 = 49 ook 71 1009.3
19 306 0.0 E 48 ook 73 1009.9
20 303 0.0 = 43 o 78 1010.7
21 30.2 0.0 = 46 o 80 1011.1
22 30.2 0.0 R R 55 o 81 1011.4
23 30.1 0.0 B R 52 o 80 1011.3
24 30.0 0.0 B R 50 o 81 1010.8
H&x A 340 0.0 55 84 1011.4
Hex/ 28.7 0.0 0.1 59 1007.5
HEH 31.0 2.7 73 1009.4
&3t 0.0 *okok
BEEEAT—4
== |ER B °C =mew EREAH °C
R XU H1§6J1 36.1 RESE 50247 177
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER265E6H21H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.9 0.0 B 52 Fokx 79 1010.4
2 29.8 0.0 B 51 o 82 1010.1
3 296 0.0 b 55 o 83 1010.1
4 296 0.0 B 50 o 81 1010.4
5 296 0.0 b 37 o 81 1010.7
6 30.1 0.0 EED 37 o 81 1011.0
7 30.8 0.0 B R 33 o 78 1011.4
8 320 0.0 EED 42 ook 74 1011.9
9 31.7 0.0 Sk 43 o 73 1012.0
10 315 0.0 B 49 o 73 1011.6
11 312 0.0 Ik 51 o 74 1011.4
12 321 0.0 B 57 o 73 1011.3
13 322 0.0 B 46 o 72 1010.7
14 322 0.0 B 54 o 71 1010.4
15 316 0.0 B 53 o 72 1010.1
16 324 0.0 B 43 sokk 69 1009.8
17 321 0.0 B 42 ook 70 1009.8
18 3138 0.0 B 36 o 71 1010.4
19 30.7 0.0 B R 34 o 75 1011.0
20 30.4 0.0 B R 35 ook 77 1011.3
21 30.2 0.0 B R 40 ook 76 1011.9
22 30.1 0.0 B R 39 ook 79 1012.3
23 30.0 0.0 B R 37 ook 79 1012.5
24 29.9 0.0 B 39 o 79 1012.2
H&x A 324 0.0 5.7 83 1012.5
B/ 296 0.0 33 69 1009.8
EEZD] 30.9 4.4 76 1011.0
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
TR 2646 A 22H
FFZl Kum ME J& ] R H ERRFRE R KUt
i3 °C mm 1651 m./'s h % hPa
1 29.7 0.0 HE R 2.9 *kkok 82 1011.9
2 29.7 0.0 HE R 3.8 kK 82 1011.6
3 29.6 0.0 HE R 40 KoKk 82 1011.6
4 29.5 0.0 HE R 3.8 kK 83 1011.6
5 294 0.0 HE R 4.6 KoKk 82 1011.7
6 29.8 0.0 HE R 55 kK 80 1011.9
7 30.6 0.0 [EE 6.7 KoKk 75 1012.2
8 31.3 0.0 [EE 6.0 *kokok 70 1012.3
9 31.7 0.0 B 5.2 *kokok 71 1012.5
10 *kokk *kokk acae *kk *kk *kk *kokk
11 *kokk *kokk acae *kk *kk *kk *kokk
12 *kokk *kokk acae *kk *kk *kk *kokk
13 *kokk *kokk acae *kk *kk *kk *kokk
14 *kokk *kokk acae *kk *kk *kk *kokk
15 *kokk *kokk acat *kk *kk *kk *kokk
16 *kokk *kokk acae *kk *kk *kk *kokk
17 *kokk *kokk acat *kk *kk *kk *kokk
18 *kokk *kokk acae *kk *kk *kk *kokk
19 *kokk *kokk acat *kk *kk *kk *kokk
20 *kokk *kokk acat *kk *kk *kk *kokk
21 *kokk *kokk acat *kk *kk *kk *kokk
22 *kokk *kokk acat *kk *kk *kk *kokk
23 *kokk *kokk acat *kk *kk *kk *kokk
24 *kokk *kokk acat *kk *kk *kk *kokk
Hmx KX 31.7 0.0 6.7 83 1012.5
Hex/ 294 0.0 2.9 70 1011.6
H¥E15 30.1 47 79 1011.9
&S5t 0.0 *okok
BT —4
= em RS H °c = rem |ZEAD H °c
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE [Ti5322 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
T RE264F6 A 23H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
TR 264F6 A 24H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
T RE 2646 A 25H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 — —_— kekok — *okok — —
12 KKk KKk KKk KKk KKk *okok *okok
13 — — *kokok — *kokok — —
14 KKk KKk KKk KoKk KoKk *okok *okok
15 *okok *okok *okok koK koK koK koK
16 *okok *okok *okok *okok *okok koK koK
17 *okok *okok *okok koK koK *okok koK
18 *okok *okok *okok *okok koK koK koK
19 *okok *okok *okok *okok koK *okok koK
20 KKk KKk KKk KKk KKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BESAT—42
N S H °C o e |EAD H °C
RE R Hﬁeas 36.1 RESE Hzfz.i 17.7
REIE [T5322 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—AIL, $63.9.25~H24.12.31 DEAREE R RIZLTLET ,




/BB GFXF/MIOR)REEBRAT—42 (5345 1]
t#&:20F25% HEiF:136E04%
TR 2646 A 26 H
FFZl Kum M= J& ] R H ERRFRE R <E
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok koK
2 koK koK *okok *okok *okok koK koK
3 *okok *okok *okok *okok *okok *okok koK
4 *okok koK *okok koK koK koK koK
5 *okok *okok *okok *okok *okok *okok koK
6 *okok *okok *okok koK koK koK koK
7 *okok *okok *okok *okok *okok *okok koK
8 *okok *okok *okok koK koK koK koK
9 *okok *okok *okok *okok *okok *okok koK
10 KKk KKk KKk KKk KKk *okok KoKk
11 KKk KKk KKk KoKk KoKk *okok KoKk
12 KKk KKk KKk KKk KKk *okok *okok
13 *okok *okok *okok *okok *okok koK koK
14 KKk KKk KKk KKk KKk *okok *okok
15 *okok *okok *okok koK koK *okok koK
16 *okok *okok *okok *okok *okok *okok koK
17 *kkok koK *okok koK koK *okok koK
18 *okok *okok *okok *okok *okok *okok koK
19 koK koK *okok koK koK *okok koK
20 KKk KKk KKk KKk KoKk *okok *okok
21 KKk KKk KKk KKk KoKk *okok *okok
22 KKk KKk KKk KoKk KoKk *okok *okok
23 *okok *okok *okok *okok *okok *okok koK
24 KKk KKk KKk KoKk KoKk *okok *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥H #DIV/0! #DIV/0! #DIV/0! #DIV/0!
&S5t 0.0 *okok
BT —4
=Ry EE E OC = = EE E OC
RE R H1§6J1 36.1 RESE Hzfz.i 17.7
REIE T30 10245 RERE 790 930.1
= =|EE2FEHH|] mm/da = « |EEEAHR] m/s
RABRET 0575 2505 : FARE [F 797 55.2
AT—ARIL, $63.9.25~H24.12.31 DEAREIE R RIZLTLET ,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
2656 H27H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °Cc mm 1651 m./’s h % hPa
1 *okok *okok *okok *okok *okok *okok *okok
2 koK koK *okok *okok *okok *okok *okok
3 Kook Kook Kook *okok *okok *okok *okok
4 *okok koK *okok *okok *okok *okok *okok
5 Kook Kook Kook *okok Kook *okok *okok
6 Kook *okok Kook *okok *okok *okok *okok
7 *okok *okok *okok *okok *okok *okok *okok
8 Kook *okok Kook *okok *okok *okok *okok
9 313 — =" 39 o 74 1010.7
10 31.9 0.0 = 37 o 69 1010.5
11 3138 0.0 = 41 o 67 1010.4
12 323 0.0 = 42 o 67 1010.1
13 322 0.0 = 43 sokk 67 1009.6
14 — — #N/A — ook — —
15 323 — R R 48 sokk 67 1008.1
16 31.9 0.0 EE 56 o 68 1007.7
17 320 0.0 HER 42 sokk 68 1008.0
18 315 0.0 = 44 sokk 69 1008.3
19 306 0.0 = 46 sokk 69 1008.9
20 303 0.0 = 38 ook 74 1009.5
21 30.1 0.0 = 28 ook 76 1009.9
22 30.0 0.0 = 2.0 o 77 1010.1
23 283 10 Jbib = 0.8 sokk 86 1009.6
24 295 0.0 = 35 sokk 82 1009.2
H&x A 323 10 56 86 1010.7
B/ 28.3 0.0 0.8 67 1007.7
HEH 311 38 72 1009.4
&3t 10 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
2646 H28H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 296 0.0 32 sokk 78 1008.9
2 295 0.0 it 38 sokk 78 1008.3
3 29.4 0.0 it 45 sokk 81 1007.8
4 295 0.0 it 4.9 o 78 1007.7
5 295 0.0 it 4.9 o 78 1007.5
6 29.8 0.0 it 53 o 75 1007.8
7 29.8 0.0 JtE® 49 kK 77 1008.3
8 30.0 0.0 it 58 sokk 73 1008.3
9 29.7 0.0 it 6.7 sokk 78 1008.4
10 29.4 05 I3t 5.4 o 83 1008.3
11 321 0.0 it 4.1 sokk 71 1008.0
12 30.0 0.0 I3t 58 o 80 1007.4
13 31.7 0.0 it 56 o 72 1007.1
14 329 0.0 it 42 sokk 67 1006.8
15 325 0.0 it 4.0 sokk 66 1006.5
16 31.9 0.0 1t 51 sokk 71 1006.2
17 31.9 0.0 it 4.4 sokk 72 1006.3
18 315 0.0 36 sokk 74 1006.8
19 30.4 0.0 it 4.1 o 78 1007.4
20 30.1 0.0 it 45 o 82 1007.7
21 30.1 0.0 it 4.4 sokk 82 1008.3
22 30.0 0.0 it 56 sokk 80 1008.6
23 30.0 0.0 it 45 sokk 80 1008.6
24 29.9 0.0 it 5.4 sokk 82 1008.1
H&x A 32.9 05 6.7 83 1008.9
B/ 29.4 0.0 32 66 1006.2
H¥EH 30.5 48 77 1007.7
&3t 05 *okok
BEEEAT—4
== |ERD H °C = S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
26456 H29H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.9 0.0 HitE 5.2 0.00 80 1007.8
2 29.8 0.0 = 43 0.00 81 1007.5
3 29.7 0.0 = 43 0.00 81 1007.4
4 293 0.0 = 5.2 0.00 86 1007.4
5 295 0.0 = 39 0.00 82 1007.4
6 29.7 0.0 = 38 0.28 81 1007.7
7 30.8 0.0 = 34 1.00 75 1008.3
8 31.9 0.0 = 2.4 0.98 72 1008.4
9 322 0.0 E 25 1.00 74 1008.6
10 324 0.0 EE 30 1.00 70 1008.6
11 326 0.0 BER 2.9 1.00 69 1008.3
12 327 0.0 EE 31 1.00 69 1007.8
13 332 0.0 = 31 1.00 65 1007.4
14 329 0.0 = 33 1.00 67 1006.9
15 335 0.0 = 35 1.00 62 1006.8
16 339 0.0 = 2.7 1.00 64 1006.5
17 332 0.0 = 35 1.00 68 1006.5
18 316 0.0 = 3.7 0.93 76 1006.8
19 30.8 0.0 = 42 0.10 78 1007.2
20 30.7 0.0 = 4.9 0.00 79 1008.1
21 30.2 0.0 = 6.1 0.00 79 1008.6
22 303 0.0 = 5.2 0.00 81 1008.9
23 30.4 0.0 = 51 0.00 79 1009.0
24 30.4 0.0 = 58 0.00 78 1008.7
H&x A 33.9 0.0 6.1 86 1009.0
B/ 29.3 0.0 2.4 62 1006.5
H¥EH 31.3 40 75 1007.8
&3t 0.0 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|E#EEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . FRARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
26456 H30H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 30.2 0.0 RE R 6.2 sokk 80 1008.6
2 30.1 0.0 E 50 sokk 80 1008.3
3 30.0 0.0 RS 54 sokk 80 1008.3
4 30.0 0.0 = 46 sokk 80 1008.6
5 30.0 0.0 R R 41 ook 77 1008.6
6 30.0 0.0 RS 43 ook 79 1008.7
7 30.7 0.0 = 44 ook 75 1008.7
8 312 0.0 = 41 ook 71 1009.2
9 31.9 0.0 = 38 sokk 69 1009.3
10 326 05 = 37 sokk 67 1009.3
11 327 0.0 = 44 sokk 62 1009.2
12 — — #N/A — ook — —
13 332 — 40 sokk 64 1008.9
14 333 10 it 42 sokk 63 1008.6
15 332 0.0 it 4.8 sokk 62 1008.4
16 315 0.0 it 53 ook 70 1008.4
17 322 0.0 b= 5.4 o 68 1008.3
18 30.4 0.0 it 59 ook 80 1009.2
19 30.7 0.0 = 6.2 ook 75 1009.5
20 306 0.0 = 6.6 ook 74 1009.8
21 305 0.0 = 56 o 76 1010.4
22 30.0 0.0 = 72 o 75 1010.4
23 30.1 0.0 = 6.8 sokk 78 1009.8
24 30.2 0.0 = 6.3 ook 78 1009.2
H&x A 333 10 72 80 1010.4
B/ 30.0 0.0 3.7 62 1008.3
HEH 311 51 73 1009.0
&3t 15 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 2505 . RARE [Th700 55.2
ATF—A[%. $63.9.25~H24.12.31 DHIRZ R ZIZLTLVET,




